Math 211 Fa2o goc R Eickson (’g/b’ Test 2 ch2.2-8 Name

Show all work for F LL credit. NO NOTES, CALCULATORS, TEXT BOOKS NOR ANY OTHER
ASSISTANCE IS PERMITTED WHILE YOU TAKE THE .TEST'
All problem, or ‘lettered’ part therein, is 5 pts unless otherwise noted.

@Find the derivative of the given functions

(a) flz)= 210— 725+ 223-- 22

()i'(%) =021 - 352" +6 #f;lzj

F(@) = 1¥at — 2927+ e
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(a)he gosﬂlqn of an object at any time t is given by s(t) = 3t2 — 44t + 20.
etermine the velocity of the object at any time t.

\/:d,g = 6 ¢-44
e —

(b)  Does the position of the object ever stop moving?

) Y4y
instantaneaus 5749\(1)’ @ V=0 ° 0:66—‘/‘( = t—%—/%“
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() When is the object moving to the right and when is the object Ml‘g________totlwlefﬁ
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\ gUse the Quotient Rule to find the derivative of the given function.

1-10t +t?
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" 4, d
(j Prove that E(cot(z)) = —csc? (z) using the definition of col(x)= _[_g__(_-_é)
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Differentiate using the chain rule

@ R(v) = (1407 — 3v) 2

R' = —Z(Wv'—?»/S3 (/‘/v"af)!

- -2
3 i (‘lv‘—Bv)a (25e-3)

(b) 9(2) = cos(sin(z) + 2?)

9=~ sh(since)r 2) . (stha+2?)
5 = —[s:)\ (51)\(2)@2)1((» > 422

=\ - (cas(+R 2—) $h (9""6%)*-2—7’)

()  f(z)=tan'(z) +tan(z’) ;
§'= 4and(x){tann)’ +sec (6*):(x")
5/ _5’: Y Lo (x) sec € + Stcl()(q) Ax>
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‘ 6. SFind y’ by implicit differfntiation —V %‘ - 37(1 - 8 )(3])1" ’gi- i 3"
(Szy+ 2zy~3 = m‘) X - 67(q/5 ! P

/ g -3\" _ zg R
%(X‘JS F‘l(*ﬁ /) = 2k ax . Sy 8»(37 -8¢% -
5 g (x'y+ xj'3+zé<")j’3+ 2xT(y) = ok By - 6x! 5

BytBky '+ ﬁx%j’h Zx"QBJ"’)’g_’ ~ 3k 2
%'@K _équ—‘f] = 3%1-8?(3:[-}_37

(b sin( Z 23 =2y y ’ — ’
O; ,((y,) . y &COS(!&) *-XZ ‘°5(T§3+3x j :‘jjsj 3
COS‘(%)'(E)*’BX :'-*L{}g Z/I(qjs—%CoS(i,j()) Z’BKIJ "'j(.'aj[j)

> Cos(ﬁ x’j-x;' +3xi=‘l/}3 ‘ ( _ 3xtyT+y Cos (x/c\;)
i)( s ) 4 4 = - L/y“’r,;cos(%)

cos (3) (128 )s2et =47y

—

E‘Xlight is on the top of a 18 foot tall pole. A 6 foot tall person starts at the pole and moves
away from the pole at a rate of 2 ft/sec. After moving for 8 seconds at what rate is the tip of the
shadow moving away from the pole?
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